
1

Name No.:

PRAGATHI EDUCATIONAL INSTITUTIONS
Difficulty  Test          (27.04.2015)            (SGT )            AVANIGADDA  Ph : 08671-272474

 


   


 
 

“Half Girl Friedn” 
  


   


      


   

         


 
 




 



   


   




         










       












 










   


    


 
 


 
 


 


   

        


 
 




   


 
 

“Put” “But” 


   
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


 
 














ZPD  MKO 
 


   

 
 


 
 




   


26 d BHL 40 d BHL 56 d BHL 70 d BHL
10 d BHL 25 d BHL 90 d BHL 





 
 

N.C.F-2005
 



        


 
 


 
 




   
      




   


 
 






   
 
 


   


   


 
 




 
 


 
 
 
 
 
 




  
        


   




   
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       


   



   


 
 

       





   


 
 


 
 

  


 
 


  

      






   


   


   


   




       
 





 
      

       
       

      
       
            




 


 
 


 


   

          


   
 123  

 3 2     2 


   





   





   
‘r’a

b 

  
 sr

sbra

    

 sr
rbsa


    

 sr
sbra


    

 sr
sbra


 




   





   



4






   





3x+4y<12, 2x-5y<10 3x+4y<12, 2x-5y < 10
3x+4y<12, 2x-5y<10 3x+4y<12, 2x-5y<10

 41
x

x   9
9 1

x
x

   



(x-3) (x-2)(x-3) (2x-3)(x-3) (3x-2)(x+3) (3x+12)

(3x2-y)6 x6y3 
 3

627 C  3
627 C  4

681 C  81


  
 

R = {(x,2x-y) /x,y  N x >3, y<3} R 
N N - {1,2} N - {1} N - {1,2,3}


 
 

AB, CD ‘O’ 


 BODAOC   ODBAOC 
 BDOAOC   DOBAOC 

 ABC  B  C AB,
AC 
Z Z =



















ABCD 


   

 


   







         




  
   

N = 70, L = 40, F = 24, C = 10, f =
20 

   
 




A-m2 W/m2

W/m2 W/m2

        
















ohmw ohms
ohms ohmw


     
V2/rg 


   

N2 
   
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
H2SO4 

P2O5 H2SO4 

   




COCl2 Cl3CNO2 ClCNO3 Cl2CNO2




H2 

   












   










 
 










 
 


 
 

















   


 
  


   


   


  


 
 





 





 
 




   


 
 


        


 
 
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
  


 
 


  




125. “I did n’t need to buy it”
The underlined tense form indicates
1. It was not necessary for me to buy it and I did
not buy it.
2. It was not necessary for me to buy it but I bought
it.
3. It was necessary for me to buy it and I bought it
4. All

126. Choose the correct order of the sentence given
below.

a. This startled him
b. The bedroom walls were damp and there were
patches of discolouration
c. One of these patches looked exactly like a human
face
d. The stranger narrates how he stayed in an old
house
1. a b c d 2. d c b a 3. d b c a 4. b c d a

127. Choose the correctly spelt word.
1. Licanciate 2. Licenciate
3. Licanciete 4. Lecenciete

128. Identify the set of all contrasting connectors.
1. and, so - that and - so
2. Therefor, nevertheless, furthermore
3. As a resull, on condition that provided that
4. Yet,. still, although inspite of, though

129. “Good Evening! How is your health?” He said to
me.......
Choose the suitable Indirect speech.
1. He wished me good morning and how my health
was
2. He wished me good morning and enquired how
my health was
3. He asked me good morning and how my health
was
4. All

130. I clean for got.
Choose the parts of speech for the underlined word.
1. adverb 2. adjective 3. noun 4. verb

131. One of ........most important requirements for .......
wicket keeper is ........ agile body

Identify the suitable articles that fill in the blanks
1. The, The, a 2. a, The, The
3. The, a, an 4. The, a, a

132. Sounds a little funny to you, .........?
Choose the suitable question Tag.
1. No question Tag form 2. Do it
3. Will you 4. Doesn’t it

133. Ravi is little stronger than krishna
Choose the suitable degrees of comparision
1. Krishna is at least as strong as Ravi
2. Krishna is as strong as Ravi
3. Ravi is stronger than krishna
4. Krishna is stranger to Ravi

134. “He should be in the library now”
The statement indicates
1. Giving information
2. Expressing probability
3. Asking information
4. Expressing a strong desire

135. I wish my brother ....... here
Choose the suitable verb form for the above sen-

tence
1. are 2. was 3. were 4. would

136. Siva : Are you going to the party?
Ravi :
Identify Ravi’s response
1. No, I haven’t invited
2. Yes, I haven’t been invited
3. No, I have been invited
4. Yes, I haven’t been beeing invited

137. When we use view and scenery, we must know
that

1. ‘view’ is an uncountable noun & scenery is a
countable noun

2. ‘View’ is a countable noun and scenery is an
uncountable noun

3. Both are countable nouns
4. Both are uncountable nouns

138. The college ....... on 23rd June
Choose the suitable verb form
1. open 2. will be open    3. opnes 4. opned

139. Identify the error of the sentence
A thid of (a) / the students (b) / is (c) / from

abroad(d)
1. a 2. b 3. c 4. d

140. He worked upon the ignorant villagers
Choose the suitable meaning for underlined words
1. solved 2. excite 3. influence 4. influ-

enced
141. ‘Though Iam poor. Iam honest is an adverb clause

of
1. supposition 2. comparision
3. condition 4. reason

142. Did you enjoy reading this book?
The underlined words indicates
1. noun phrase 2. adjective phrase
3. adverb phrase 4. all
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Read the following poem
Loveliest of trees, he cherry now
Is hung with bloom along the bough,
And stands about the woodland ride
Wearing white for Eastertide
Now, of my threescore yeasr and ten,
twenty will not come again,
And take from seventy springs a score
It only leaves me fifty more.
And since to look at things in bloom,
Fifty springs are little room.
About the woodlands I will go
To see the cherry hug with snow

143. ‘Bough’ means
1. a short branch 2. a long branch
3. roots 4. stem

144. In the poem ‘woodland ride’ means
1. forest camp 2. travelling on a cart
3. an imaginary ride
4. journey through a free-lined area

145. Three score years and ten is
1. 70 years 2. 60 years 3. 50 years 4. 40 years

146. In the poem ‘little room’ stands for
1. short trees 2. poet’s childhood
3. short period of time 4. not important

147. Match the parts of the sentences given in group A
and B

Group A             Group B
a. If you are ill                p. you would go to hospital
b. You would go to q. you will go to hospital
    hospital
c. If you had been ill r. If fell ill
d. If you were ill s. You would have gone to

hospital
1. a-p, b-q, c-r, d-s 2. a-s, b-p, c-r, d-q
3. a-r, b-s, c-q, d-p 4. a-q, b-r, c-s, d-p

148. Choose the incorrect pair
1. a crashing bore 2. a burning desire
3. a blazing row 4. a crashing nuisance

149. Her silence worried us
Identify the passive form
1. We are worried by her silence
2. We are worried with her silence
3. We were worried about her silence
4. No passive form

150. It .......... be fine tomorrow
Identify the suitable modal verb
1. ought 2. should 3. must 4. all

151. A week after the accident he died ......... his
injuries

Choose the suitable prepositions
1. with 2. at 3. from 4. for

152. Subject + Verb + Prepositional phrase.
Choose the suitable sentence that fits into the

structure

1. She plays tennis in the indoor stadium
2. He drank a cup of tea
3. They met the doctor of the hospital
4. We ran in the ground

153. The ‘Natural order’ in the process of learning
English suggests that, children

1. acqure some language structures earlier than
    others

2. are slow at learning to speak when not in school
3. learn to read and write simultaneously
4. are able to speak first and then listen

154. What is the system of rules that governs how
words can be meaningfully arranged to form phrases
and sentences?

1. grammar 2. syntax 3. morpheme 4. language
155. Which learning domain constitutes higher order

thinking ?
1. Remembering 2. Understanding
3. Application 4. Evaluation

156. Which of the following is not an appropriate tool
for formative assessment ?

1. Assignment 2. Oral questions
3. Term test 4. Quiz and games

157. Who is the chief advocate of the New method?
1. C.J. Dotson 2. Michael west
3. Prof - Noon 4. H. Sharp

158. A structure - drill can be useful in remedying the
frequently errors concerned with

1. vocabulary 2. pronunciation of words
3. spellings 4. tense forms

159. After reading a story on fish, if a teacher asks
children to answer - “Imagine you are a fish in apond.
What do you see around you”? This is an example

1. Essay question
2. Comprehension question
3. Close - ended question
4. Open-ended question


 
 


  







 





   
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
 
 

A,B,C, D 
       












 











       



   





  
   


       


 
 

 A       
   B   
       
  A, B 


 
 






   










        


   



 
 



      
    


 
 

X - 
   Y -     

  Z -     
X,Y,Z 


 
 






  

All the Best



Q.No Ans Q.No Ans Q.No Ans Q.No Ans
1 3 46 4 91 2 136 1
2 3 47 3 92 2 137 2
3 4 48 4 93 2 138 3
4 1 49 1 94 1 139 3
5 2 50 4 95 2 140 4
6 1 51 3 96 2 141 1
7 4 52 2 97 2 142 1
8 4 53 2 98 3 143 2
9 3 54 4 99 2 144 4

10 3 55 4 100 4 145 1
11 2 56 4 101 2 146 3
12 1 57 1 102 2 147 4
13 4 58 2 103 2 148 4
14 2 59 4 104 4 149 3
15 4 60 3 105 2 150 2
16 1 61 4 106 2 151 3
17 4 62 1 107 2 152 4
18 4 63 2 108 4 153 1
19 2 64 1 109 1 154 2
20 3 65 2 110 3 155 4
21 4 66 3 111 1 156 3
22 3 67 2 112 2 157 2
23 3 68 2 113 4 158 4
24 2 69 4 114 1 159 4
25 3 70 2 115 3 160 1
26 2 71 3 116 2 161 1
27 3 72 1 117 4 162 2
28 1 73 2 118 2 163 2
29 1 74 1 119 3 164 3
30 3 75 4 120 4 165 3
31 2 76 2 121 2 166 2
32 4 77 1 122 1 167 1
33 3 78 2 123 4 168 3
34 3 79 3 124 3 169 2
35 1 80 3 125 1 170 1
36 3 81 2 126 3 171 2
37 1 82 4 127 2 172 3
38 1 83 3 128 4 173 1
39 3 84 2 129 2 174 4
40 3 85 1 130 1 175 1
41 3 86 2 131 3 176 2
42 1 87 3 132 4 177 4
43 4 88 3 133 1 178 2
44 4 89 4 134 2 179 2
45 3 90 3 135 3 180 1

SGT ANSWER SHEET
DIFFICULTY  TEST.  (27.04.2015)


